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Ay = 3t

Llati Ay =+ -0.2y t
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Y tt, -yr  =‘3

HEI Y =t+i 3fY r

wmn AY = -o.zyt t
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Y -y, = 3t+ L



AY, = 3



77n AYy, = 3

mEI Yt+ L -y, = 3 : Ay t = y,+, - y,

Yt+, " ytt3

Y, = ym++3

Y, = y*+3

= (y, t 3) t 3 : yt = yQ t 3

= y, t 2(3)

Y3 = Y i-31

=. cyo t 2(3)1 t 3 : ya = y, t 2(3)

= y, t 3(3)

yt = y. tt(3)

idu Yt = 15 t 3t : Y. = 15

AY, = -0.2y +



'37n Ay,  = -0.2y+

Ga Y t+, -y, = -0.2y + : Ay t = yt+,  - yt

Y =++ L 0.. BY t

= 0.8(0.8yo) : Y, = b.ey 0

y3 = 0.8y a

= 0.8C(O.dy~l : Y, = (o.B)=y 0



y t = Abt
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Y + w = 0++, t
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Ab*+’ + aAbt = 0

llw u&J b+a = 0

aria b = -a
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uae7-m Y P = yt  = k
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Y = k(ttl)t+,

wnium7srbhl: Y. t+L + w + = c

L iu%ua”a k(ttl) t akt = c t unud7  Y, ua8 Y,,,

Ge k t + k t a k t  =  c

ufj a = -1: k t t k - k t  =  c

isEu k = c

nsi a # -1: y t = A(-aIt  t 5
l+a

: general solution, case of a # -1

n'ii  a = -1: y t = AC-a)' t ct

= Atct :a=-1

: general solution, case of a = -I
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y , =  AC-a)*  +  ;

0:
y  0

= A+&

y , = cy - C,(-a)t + ” I?0 1ta l t a

:  definite soiution, case of a f - 1
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y t = Atct

y 0 = A

Yt = yotct //

:  definite solution, case of a = - 1
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y t = cy - -l(-a)t t ”0 lta l ta

1% t = 0:

y 0 = cy - C](-a)o  + "0 lta, l ta
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y 0 = Y, --+-
l ta l ta

Y r+  L tay = c
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C
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Y = cy - C](-a)k+’  c
t+, 0 l+a

[Y - CI(-aIt+'  t -5 t aC[y
C

cl lta
- -l(-alt + 2-1

lta 0 lta lta

CY - --f-lC-aIr+' t -!- t a[y
c

0 lta
- -l(-aJt

lta o lta
+ a($)

C
[Y - -I(-aIt+'  t 2- - (-a)[y

C

0 lta lta
- -l(-aIt t a(0 lta ik)

C
[Y0 - filC-aI'+'  t - - [y

c
lta O
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uivm yt = Ab’

Yc = A(3)’ rb=3//

Yt = k

y =kt+,

Y ‘+L -3y = 1t

k-3k = 1

1
k = -_

2

Y, = k

: unud1 Y,+, UBI Y,



y t = Yc  + Y,

= A(31t - ; : Imud  yc um Y,

nnsria  t = 0 WI&

t&l A = y
*
t;

1
A = 3+

2 z

= 2

y t = 2(3)'  - ;
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y ,
= cy - -I(-aJF t -0 l t a - l t a

Y - 3 y = 1
t+l c
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